DIRECTION SELECTOR Electric Vehicle

1-INCLUDES ITEMS 2 - 46
31 - INCLUDES ITEMS 32 - 34

Page I-7 Service Parts Manual EZGOLEOEN



| Electric Vehicle

DIRECTION SELECTOR

THE USE OF NON UL PARTS WILL VOID ANY UL LISTING.

When ordering parts, please specify the model and serial number of the product.
* Indicates a component that is not available as an individual part.

G** Indicates consult Customer Service Department for additional information.

ITEM PART NO. 1 2 3 4 5 DESCRIPTION QTY.
1 73036-G01 DIRECTION SELECTOR ASSEMBLY (INCLUDES ITEMS 2 - 46) ................... 1
2 00138-G6 SCREW, #6 - 32 X B/4 LG c.uuiieeeeeeeeeeeeeieccereerreceestteseessssnnsereessesssssssesssnes 3
3 00139-G8 SCREW, #6 - 32 X 2 LG ..eeiieieeeeeecreerrtr s rreesceeecssvee e e e eenae e s sae e anes 4
4 00414-G8 BOLT, 1/4 - 20 X 1 LGioeoooeeiecereeceerenneenreieeeecresessresesreeseeseesssssesenesneesessnnsens 2
5
6 00525-G5 NUT, #6 = 2. ceereeeeeritcreectrrece sttt ressr e e s ees sttt e eesesee s e res e nsenesesessssssensenons 8
7 00532-G1 NUT, 174 = 20 aeeeeeeeeeeeeeeeeeeecccrrveveanrreessesssssteessssene s essssssssssesvasamsnsessesens 2
8
9
10 00559-G7 WASHER, /4 ...ttt st crtecste s tesiee e s sas e e reresesssasssasesssenssnnessnrenns 4
1 00560-G1 WASHER, 3/8......eeeeeeeeeieeceeeeceee e eeeesssesessees s s sssstessseseses et s ssnssnanasses 1
12
13 00565-G3 WASHER, LOCK, #6 ....occeeiercieeceeerecereerteesetesesseeeseseeesesssasssseensssns e eensnnren 8
14 00565-G7 WASHER, LOCK, 1/4 ...... ettt erets e se e esesse e s s s e s e nnes 2
15
16
17 00567-G3 WASHER, LOCK, #6 ...t sccceeeeesscceimeee s s eccmeeee e e e s emensesesssesnnneas 4
18
19 10606-G2 SWITCH LIMIT, MS2 AND MS4.......cooeiieectereeereeeeeeess e eee s e e e 2
20
21
22
23 12806-G1 ] L 1 4
24
25 12835-G1 CAM...oo.oreeeeeee e seee s st ssss s eeesema e ee e eseseesereeneeeseeeemsenee 1
26
27 * SCREW ...ttt csrneeeecreesensessssesesssnesssnsesssasessssssssessssessssssesssssessrsarens 4
28
29 14628-G1 TAB, FASTON, 5/168 X 5/16 ..ottt s cctttte s vt ee e e e sneseasensennnnd 4
30

EZGOLTIE Service Parts Manual Page |-8




